## Article

# Iterated Partial Sums of the $k$-Fibonacci Sequences 

Sergio Falcón (D) and Ángel Plaza * (D)

Department of Mathematics, University of Las Palmas de Gran Canaria, 35017 Las Palmas de Gran Canaria, Spain * Correspondence: angel.plaza@ulpgc.es

Citation: Falcón, S.; Plaza, Á. Iterated Partial Sums of the $k$-Fibonacci Sequences. Axioms 2022, 11, 542. https:/ /doi.org/10.3390/ axioms 11100542

Academic Editors: Takao Komatsu, Claudio Pita-Ruiz and Ram Krishna Pandey

Received: 20 September 2022
Accepted: 8 October 2022
Published: 11 October 2022
Publisher's Note: MDPI stays neutral with regard to jurisdictional claims in published maps and institutional affiliations.

Copyright: © 2022 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (https:/ / creativecommons.org/licenses/by/ 4.0/).


#### Abstract

In this paper, we find the sequence of partial sums of the $k$-Fibonacci sequence, say, $S_{k, n}=\sum_{j=1}^{n} F_{k, j}$, and then we find the sequence of partial sums of this new sequence, $S_{k, n}^{2)}=\sum_{j=1}^{n} S_{k, j}$, and so on. The iterated partial sums of $k$-Fibonacci numbers are given as a function of $k$-Fibonacci numbers, in powers of $k$, and in a recursive way. We finish the topic by indicating a formula to find the first terms of these sequences from the $k$-Fibonacci numbers themselves.


Keywords: partial sums; $k$-Fibonacci sequences

## 1. Introduction

Recently, the iterated partial sums of the classical Fibonacci sequence have been studied [1]. Surprisingly, as noted in [1], these iterated partial sums are related to Schreier sets, which were used to solve a problem in Banach space theory [2]. In combinatorics, these numbers are related to Ramsey-type theorems for subsets of $\mathbb{N}$. Our purpose in this paper is to extend this study to the $k$-Fibonacci sequences and expand its results. Analogous identities may be obtain for other sequences as the $k$-Lucas numbers [3].

The $k$-Fibonacci numbers appear when studying the four-triangle longest-edge (4T-LE) partition of triangles, as another example of the relation between geometry and numbers [4]. The 4T-LE partition of a triangle is obtained by joining the middle point of the longest edge of the triangle to the opposite vertex and to the midpoints of the two remaining edges. This partition and the associated refinement algorithm were introduced by M.-C. Rivara [5], and their extensions to higher dimensions have been used in finite element methods [6].

The $k$-Fibonacci numbers are defined by the recurrence relation $F_{k, n}=k F_{k, n-1}+F_{k, n-2}$ with initial conditions $F_{k, 0}=0$ and $F_{k, 1}=1$. The first $k$-Fibonacci numbers are $1, k, k^{2}+1$, $k^{3}+2 k, k^{4}+3 k^{2}+1, k^{5}+4 k^{3}+3 k, k^{6}+5 k^{4}+6 k^{2}+1, \ldots$

The associated characteristic equation is $r^{2}-k r-1=0$, and its solutions are $\sigma_{1}=$ $\frac{k+\sqrt{k^{2}+4}}{2}$ and $\sigma_{2}=\frac{k-\sqrt{k^{2}+4}}{2}$. These roots verify that $\sigma_{1} \cdot \sigma_{2}=-1, \sigma_{1}+\sigma_{2}=k$.

In [4], the following formulas, among others, are proven:
Generating function:

$$
\begin{equation*}
\sum_{n=0}^{\infty} F_{k, n} x^{n}=\frac{x}{1-k x-x^{2}} \tag{1}
\end{equation*}
$$

Binet formula:

$$
\begin{equation*}
F_{k, n}=\frac{\sigma_{1}^{n}-\sigma_{2}^{n}}{\sigma_{1}-\sigma_{2}} \tag{2}
\end{equation*}
$$

Sum of the first terms:

$$
\begin{equation*}
\sum_{j=0}^{n} F_{k, j}=\frac{1}{k}\left(F_{k, n+1}+F_{k, n}-1\right) \tag{3}
\end{equation*}
$$

## 2. Iterated Partial Sums

The definition of partial sums of the $k$-Fibonacci sequence is introduced, along with how to find them and some of the relationships between their elements.

Definition 1. For $r \geq 1$, the iterated partial sums of the $k$-Fibonacci numbers are defined as $S_{k, n}^{r}=\sum_{j=1}^{n} S_{k, j}^{r-1)}$, with initial condition $S_{k, n}^{0)}=F_{k, n}$.

The Table 1 shows the first elements of these sequences.
Table 1. Iterated partial sums of the $k$-Fibonacci sequences.

|  |  | $\boldsymbol{n}$ | $\mathbf{1}$ | $\mathbf{2}$ | $\mathbf{3}$ |
| :--- | :--- | :--- | :--- | :--- | :--- |
| $\boldsymbol{r}$ |  |  |  | $\mathbf{4}$ |  |
|  | 0 |  | $F_{k, 1}$ | $F_{k, 2}$ | $F_{k, 3}$ |
|  | $F_{k, 1}$ | $F_{k, 2}+F_{k, 1}$ | $F_{k, 3}+F_{k, 2}+F_{k, 1}$ | $F_{k, 4}+F_{k, 3}+F_{k, 2}+F_{k, 1}$ |  |
| 2 |  | $F_{k, 1}$ | $F_{k, 2}+2 F_{k, 1}$ | $F_{k, 3}+2 F_{k, 2}+3 F_{k, 1}$ | $F_{k, 4}+2 F_{k, 3}+3 F_{k, 2}+4 F_{k, 1}$ |
|  | $F_{k, 1}$ | $F_{k, 2}+3 F_{k, 1}$ | $F_{k, 3}+3 F_{k, 2}+6 F_{k, 1}$ | $F_{k, 4}+3 F_{k, 3}+6 F_{k, 2}+10 F_{k, 1}$ |  |
|  |  | $F_{k, 1}$ | $F_{k, 2}+4 F_{k, 1}$ | $F_{k, 3}+4 F_{k, 2}+10 F_{k, 1}$ | $F_{k, 4}+4 F_{k, 3}+10 F_{k, 2}+20 F_{k, 1}$ |

### 2.1. First Formula

The following formula allows us to find any term of these sequences in a nonrecursive way.

Theorem 1. For $r \geq 1$ :

$$
\begin{equation*}
S_{k, n}^{r)}=\sum_{j=0}^{n}\binom{r+j-1}{j} F_{k, n-j} \tag{4}
\end{equation*}
$$

Proof. Notice that the right-side hand is the convolution of sequences $\left\{\binom{r+n-1}{n}\right\}_{n \geq 0}$, and $\left\{F_{k, n}\right\}_{n \geq 0}$. Since their respective generating functions [4,7] are $\frac{1}{(1-x)^{r}}$ and $\frac{x}{1-k x-x^{2}}$, the conclusion follows.

$$
\text { For instance, } S_{k, 4}^{3)}=\sum_{j=0}^{4}\binom{2+j}{j} F_{k, 4-j}=F_{k, 4}+3 F_{k, 3}+6 F_{k, 2}+10 F_{k, 1} \text {. }
$$

Moreover, the first $n$ addends of $S_{k, n+1}^{r)}$ are the same as those of $S_{k, n}^{r)}$ without more than changing $F_{k, n}$ by $F_{k, n+1}$. The last addend of $S_{k, n+1}^{r)}$ is $\binom{n+r-2}{n-1}$, because $F_{k, 1}=1$.

$$
\text { If } r=1: S_{k, n}^{1)}=\sum_{j=0}^{n}\binom{j}{j} F_{k, n-j}=\sum_{j=0}^{n} F_{k, j} .
$$

Remark 1. Notice that for any sequence $\left\{a_{k, n}\right\}_{n \geq 0}$, if $S_{k, n}^{r)}$ denotes the $r$-th iterated partial sum of $\left\{a_{k, n}\right\}_{n \geq 0}$, then as in the previous theorem, $S_{k, n}^{r)}=\sum_{j=0}^{n}\binom{r+j-1}{j} a_{k, n-j}$.

### 2.2. Partial Sums in Powers of $k$

By applying the definition of the $k$-Fibonacci numbers in Table 1, for $r=0,1,2,3,4$, the following sequences are obtained in Tables 2-5:

Table 2. Iterated partial sums of the $k$-Fibonacci sequences.

|  |  | $\boldsymbol{n}$ | $\mathbf{1}$ | $\mathbf{2}$ | $\mathbf{3}$ | $\mathbf{4}$ |
| :--- | :--- | :--- | :--- | :--- | :--- | :--- |
| $\boldsymbol{r}$ |  | 1 | $k$ | $k^{2}+1$ | $k^{3}+2 k$ | $k^{4}+3 k^{2}+1$ |
|  | 0 |  | 1 | $k+1$ | $k^{2}+k+2$ | $k^{3}+k^{2}+3 k+2$ |
| $1^{4}$ |  | $k+2$ | $k^{2}+2 k+4$ | $k^{3}+2 k^{2}+5 k+6$ | $k^{4}+2 k^{3}+4 k^{2}+3 k+3 k^{2}+8 k+9$ |  |
| 2 | 1 | $k+3$ | $k^{2}+3 k+7$ | $k^{3}+3 k^{2}+8 k+13$ | $k^{4}+3 k^{3}+9 k^{2}+16 k+22$ |  |
| 3 | 1 | $k+4$ | $k^{2}+4 k+11$ | $k^{3}+4 k^{2}+12 k+24$ | $k^{4}+4 k^{3}+13 k^{2}+28 k+46$ |  |

For $k=1$ in Table 2, the respective sequences are

Table 3. Iterated partial sums of the classical Fibonacci sequence.

|  |  | $\boldsymbol{n}$ | $\mathbf{1}$ | $\mathbf{2}$ | $\mathbf{3}$ | $\mathbf{4}$ | $\mathbf{5}$ | $\mathbf{6}$ | $\mathbf{7}$ | $\mathbf{8}$ | $\mathbf{9}$ | $\mathbf{1 0}$ | $\mathbf{1 1}$ |
| :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: |
| $\boldsymbol{r}$ |  |  | 1 | 1 | 2 | 3 | 5 | 8 | 13 | 21 | 34 | 55 | 89 |
|  | 0 |  | 1 | 2 | 4 | 7 | 12 | 20 | 33 | 54 | 88 | 143 | 232 |
|  | 1 |  | 1 | 3 | 7 | 14 | 26 | 46 | 79 | 133 | 221 | 364 | 596 |
|  | 2 |  | 4 | 11 | 25 | 51 | 97 | 176 | 309 | 530 | 894 | 1490 | 2462 |
|  | 3 | 1 | 5 | 16 | 41 | 92 | 189 | 365 | 674 | 1204 | 2098 | 3588 | 6050 |

For $k=2$ in Table 2, the respective sequences are
Table 4. Iterated partial sums of the Pell sequence.


For $k=3$ in Table 2, the respective sequences are

Table 5. Iterated partial sums of the 3-Fibonacci sequence.

| $\boldsymbol{r}$ |  | $\boldsymbol{n}$ | $\mathbf{1}$ | $\mathbf{2}$ | $\mathbf{3}$ | $\mathbf{4}$ | $\mathbf{5}$ | $\mathbf{6}$ | $\mathbf{7}$ | $\mathbf{8}$ | $\mathbf{9}$ | $\mathbf{1 0}$ |
| :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: |
|  | 0 |  | 1 | 3 | 10 | 33 | 109 | 360 | 1189 | 3927 | 12,970 | 42,837 |
|  | 1 | 1 | 4 | 14 | 47 | 156 | 516 | 1705 | 5632 | 18,602 | 61,439 | 202,920 |
|  | 2 | 1 | 5 | 19 | 66 | 222 | 738 | 2443 | 8075 | 26,677 | 88,116 | 291,036 |
|  | 3 | 1 | 6 | 25 | 91 | 313 | 1051 | 3494 | 11,569 | 38,246 | 126,362 | 417,398 |
| 4 | 1 | 7 | 32 | 123 | 436 | 1487 | 4981 | 16,550 | 54,796 | 181,158 | 598,556 |  |

For instance (Table 3): $S_{1,5}^{4)}=S_{1,1}^{3)}+S_{1,2}^{3)}+S_{1,3}^{3)}+S_{1,4}^{3)}+S_{1,5}^{3)}$

$$
=1+4+11+25+51 \stackrel{1}{=} 92
$$

$$
\text { Or (Table 4): } S_{2,5}^{4)}=S_{2,1}^{33}+S_{2,2}^{33}+S_{2,3}^{3)}+S_{2,4}^{3)}+S_{2,5}^{3)}
$$

$$
=1+5+17+49+130=202 .
$$

Theorem 1. For $r \geq 1$ :

$$
\begin{equation*}
S_{k, n}^{r)}=S_{k, n-1}^{r)}+S_{k, n}^{r-1)} . \tag{5}
\end{equation*}
$$

Proof. $S_{k, n}^{r)}=\sum_{j=1}^{n} S_{k, j}^{r-1)}=\sum_{j=1}^{n-1} S_{k, j}^{r-1)}+S_{k, n}^{r-1)}=S_{k, n-1}^{r)}+S_{k, n}^{r-1)}$.

For instance (Table 2):

$$
\begin{aligned}
S_{k, 4}^{3)} & =k^{3}+3 k^{2}+8 k+13 \\
S_{k, 5}^{2)} & =k^{4}+2 k^{3}+6 k^{2}+8 k+9 \\
S_{k, 4}^{3)}+S_{k, 5}^{2)} & =k^{4}+3 k^{3}+9 k^{2}+16 k+22=S_{k, 5}^{33} .
\end{aligned}
$$

Theorem 2. Sequences $S_{k, n}^{r)}$ verify the recurrence relation

$$
\begin{equation*}
S_{k, n+1}^{r)}=k S_{k, n}^{r)}+S_{k, n-1}^{r)}+\binom{n+r-2}{n-1} . \tag{6}
\end{equation*}
$$

with initial conditions $S_{k, 1}^{r)}=1$ and $S_{k, 2}^{r)}=k+r$.
Proof. By induction.
For $r=0, S_{k, n}^{0)}=F_{k, n}$ (Table 1). Formula (6) holds because $\binom{n-2}{n-1}=0$ and $S_{k, n}^{0)}$ are reduced to the $k$-Fibonacci numbers.

Let us suppose Formula (6) is true until $S_{k, n+1}^{r)}$ and $S_{k, n}^{r+1)}$. Then, from Equation (5),

$$
\begin{aligned}
S_{k, n+1}^{r)}= & S_{k, n}^{r}+S_{k, n+1}^{r-1)} \\
= & k S_{k, n-1}^{r)}+S_{k, n-2}^{r)}+\binom{n+r-3}{n-2} \\
& +k S_{k, n}^{r-1)}+S_{k, n-1}^{r-1)}+\binom{n+r-3}{n-1} \\
= & k\left(S_{k, n-1}^{r)}+S_{k, n}^{r-1)}\right)+\left(\begin{array}{c}
S_{k, n-2}^{r)}+S_{k, n-1}^{r-1)}
\end{array}\right) \\
& +\left(\binom{n+r-3}{n-2}+\binom{n+r-3}{n-1}\right) \\
= & k S_{k, n}^{r)}+S_{k, n-1}^{r)}+\binom{n+r-2}{n-1} .
\end{aligned}
$$

For instance (Table 2), for $n=4$ and $r=3$ :

$$
\begin{aligned}
S_{k, 4}^{3)} & =k^{3}+3 k^{2}+8 k+13 \\
S_{k, 3}^{3)} & =k^{2}+3 k+7 \\
k S_{k, 4}^{3)}+S_{k, 3}^{3)}+\binom{6}{4} & =k^{4}+3 k^{3}+9 k^{2}+16 k+22=S_{k, 5}^{3)}
\end{aligned}
$$

Thus, sequence $S_{k, n}^{r)}$ can be found directly, by applying this formula, and it is not necessary to use the previous sequences.

## 3. Relation between the Partial Sums and the $k$-Fibonacci Numbers

In this section, we study the relation between the iterated partial sums of the $k$ Fibonacci sequences and the $k$-Fibonacci numbers.

Next, a lemma will be used for the following formulas.

## Lemma 1.

$$
\begin{equation*}
\sum_{i=1}^{n} F_{k, a+i}=\frac{1}{k}\left(F_{k, a+n+1}+F_{k, a+n}-\left(F_{k, a+1}+F_{k, a}\right)\right) \tag{7}
\end{equation*}
$$

Proof. Since $\sum_{j=0}^{n} F_{k, j}=\frac{1}{k}\left(F_{k, n+1}+F_{k, n}-1\right)$ and $\sum_{i=1}^{n} F_{k, a+i}=\sum_{i=0}^{n+a} F_{k, i}-\sum_{i=0}^{a} F_{k, i}$, the conclusion follows.

For the classical Fibonacci sequence $(k=1), \sum_{i=0}^{n} F_{a+i}=F_{a+n+2}-F_{a+1}$.
Corollary 1. For $r=2$,

$$
\begin{equation*}
S_{k, n}^{2)}=\frac{1}{k^{2}}\left(F_{k, n+2}+2 F_{k, n+1}+F_{k, n}-(k n+k+2)\right) . \tag{8}
\end{equation*}
$$

Proof. $S_{k, n}^{1)}=\sum_{j=1}^{n} S_{k, j}^{0)}=\sum_{j=1}^{n} F_{k, j}=\frac{1}{k}\left(F_{k, n+1}+F_{k, n}-1\right)$. Therefore, by (7),

$$
\begin{aligned}
S_{k, n}^{2)} & =\sum_{j=1}^{n} S_{k, j}^{1)}=\frac{1}{k} \sum_{j=1}^{n}\left(F_{k, j+1}+F_{k, j}-1\right) \\
\sum_{j=1}^{n} F_{k, j+1} & =\frac{1}{k}\left(F_{k, n+2}+F_{k, n+1}-(k+1)\right) \\
\sum_{j=1}^{n} F_{k, j} & =\frac{1}{k}\left(F_{k, n+1}+F_{k, n}-1\right) \\
S_{k, n}^{2)} & =\frac{1}{k^{2}}\left(F_{k, n+2}+2 F_{k, n+1}+F_{k, n}-(k n+k+2)\right) .
\end{aligned}
$$

In particular, for $k=1: S_{1, n}^{2)}=F_{n+4}-3-n$.
Identity (8) may be written as $S_{k, n}^{2)}=\frac{1}{k^{2}} \sum_{i=0}^{2}\binom{2}{i}\left(F_{k, n+2-i}-F_{k, 2-i}\right)-\frac{n}{k}$.
Corollary 2. For $r=3$,

$$
\begin{align*}
S_{k, n}^{3)}= & \frac{1}{k^{3}}\left(F_{k, n+3}+3 F_{k, n+2}+3 F_{k, n+1}+F_{k, n}-\left(k^{2}+4 k+3\right)\right) \\
& -\frac{n}{2 k^{2}}(k n+3 k+4) . \tag{9}
\end{align*}
$$

Proof. Taking into account the formulas for $S_{k, n}^{1)}$ and $S_{k, n^{\prime}}^{2)}$ (7) and (8),

$$
\begin{aligned}
S_{k, n}^{3)} & =\sum_{j=1}^{n} S_{k, j}^{2)} \\
& =\frac{1}{k^{2}}\left(\sum_{j=1}^{n} F_{k, j+2}+2 \sum_{j=1}^{n} F_{k, j+1}+\sum_{j=1}^{n} F_{k, j}-k \sum_{j=1}^{n} j-(k+2) \sum_{j=1}^{n} 1\right) \\
\sum_{j=1}^{n} F_{k, j+2} & =S_{k, n}^{1)}+\left(F_{k, n+1}+F_{k, n+2}\right)-\left(F_{k, 2}+F_{k, 1}\right) \\
\sum_{j=1}^{n} F_{k, j+1} & =S_{k, n}^{1)}+F_{k, n+1}-F_{k, 1} \\
\sum_{j=1}^{n} F_{k, j} & =S_{k, n^{\prime}}^{1)}
\end{aligned}
$$

$$
\begin{aligned}
S_{k, n}^{3)}= & \frac{1}{k^{2}}\left(4 S_{k, n}^{1)}+3 F_{k, n+1}+F_{k, n+2}-F_{k, 2}-3 F_{k, 1}\right. \\
& \left.-\frac{n}{2}(k n+3 k+4)\right) \\
= & \frac{1}{k^{2}}\left(4 \frac{1}{k}\left(F_{k, n+1}+F_{k, n}-1\right)+3 F_{k, n+1}+F_{k, n+2}-k-3\right) \\
= & \frac{1}{k^{3}}\left(F_{k, n+3}+3 F_{k, n+2}+3 F_{k, n+1}+F_{k, n}-\left(k^{2}+3 k+4\right)\right) \\
& -\frac{n}{2 k^{2}}(k n+3 k+4) .
\end{aligned}
$$

For the classical Fibonacci sequence $(k=1), S_{1, n}^{3)}=F_{n+6}-2\left(n^{2}+n+4\right)$.

Corollary 3. For $r=4$,

$$
\begin{aligned}
S_{k, n}^{4)}= & \frac{1}{k^{4}} \sum_{i=0}^{4}\binom{4}{i}\left(F_{k, n+4-i}-F_{k, 4-i}\right) \\
& -\frac{n}{6 k^{3}}\left(\left(n^{2}+6 n+11\right) k^{2}+(6 n+24) k+24\right)
\end{aligned}
$$

Proof. Taking into account (8) and (4),

$$
\begin{aligned}
S_{k, n}^{4)}= & \sum_{j=1}^{n} S_{k, j}^{3)} \\
= & \frac{1}{k^{3}}\left(\sum_{j=1}^{n} F_{k, j+3}+3 \sum_{j=1}^{n} F_{k, j+2}+3 \sum_{j=1}^{n} F_{k, j+1}+\sum_{j=1}^{n} F_{k, j}\right. \\
& \left.-\left(k^{2}+3 k+4\right) \sum_{j=1}^{n} 1\right)-\frac{3 k+4}{2 k^{2}} \sum_{j=1}^{n} j-\frac{1}{2 k} \sum_{j=1}^{n} j^{2}, \\
\sum_{j=1}^{n} F_{k, j+3}= & \frac{1}{k}\left(F_{k, n+4}+F_{k, n+3}-\left(F_{k, 4}+F_{k, 3}\right)\right), \\
\sum_{j=1}^{n} F_{k, j+2}= & \frac{1}{k}\left(F_{k, n+3}+F_{k, n+2}-\left(F_{k, 3}+F_{k, 2}\right)\right), \\
\sum_{j=1}^{n} F_{k, j+1}= & \frac{1}{k}\left(F_{k, n+2}+F_{k, n+1}-\left(F_{k, 2}+F_{k, 1}\right)\right), \\
\sum_{j=1}^{n} F_{k, j}= & \frac{1}{k}\left(F_{k, n+1}+F_{k, n}-\left(F_{k, 1}+F_{k, 0}\right)\right), \\
S_{k, n}^{4)}= & \frac{1}{k^{4}}\left(F_{k, n+4}+4 F_{k, n+3}+6 F_{k, n+2}+4 F_{k, n+1}+F_{k, n}\right. \\
& \left.-\left(F_{k, 4}+4 F_{k, 3}+6 F_{k, 2}+4 F_{k, 1}+F_{k, 0}\right)\right)-\frac{k^{2}+3 k+4}{k^{3}} n \\
& -\frac{3 k+4}{4 k^{2}} n(n+1)-\frac{1}{12 k} n(n+1)(2 n+1) \\
= & \frac{1}{k^{4}} \sum_{i=0}^{4}\binom{4}{i}\left(F_{k, n+4-i}-F_{k, 4-i}\right) \\
& -\frac{n}{6 k^{3}}\left(\left(n^{2}+6 n+11\right) k^{2}+(6 n+24) k+24\right) .
\end{aligned}
$$

For the classical Fibonacci sequence $(k=1), S_{1, n}^{4)}=F_{n+8}-21-\frac{n}{6}\left(n^{2}+12 n+59\right)$. In short:

$$
\begin{aligned}
S_{k, n}^{0)}= & F_{k, n} \\
S_{k, n}^{1)}= & \frac{1}{k}\left(F_{k, n+1}+F_{k, n}-1\right), \\
S_{k, n}^{2)}= & \frac{1}{k^{2}}\left(2 F_{k, n+1}+2 F_{k, n}-2+k F_{k, n+1}-k-n\right), \\
S_{k, n}^{3)}= & \frac{1}{k^{3}}\left(F_{k, n+3}+3 F_{k, n+2}+3 F_{k, n+1}+F_{k, n}-\left(k^{2}+3 k+4\right)\right) \\
& -\frac{n}{2 k^{2}}(k n+3 k+4), \\
S_{k, n}^{4)}= & \frac{1}{k^{4}} \sum_{i=0}^{4}\binom{4}{i}\left(F_{k, n+4-i}-F_{k, 4-i}\right) \\
& -\frac{n}{6 k^{3}}\left(\left(n^{2}+6 n+11\right) k^{2}+(6 n+24) k+24\right) .
\end{aligned}
$$

## 4. Conclusions

In this paper, we have found the sequence of partial sums of the $k$-Fibonacci sequence, say, $S_{k, n}=\sum_{j=1}^{n} F_{k, j}$, and then the sequence of partial sums of this new sequence, $S_{k, n}^{2)}=$ $\sum_{j=1}^{n} S_{k, j}$, and so on. The iterated partial sums of $k$-Fibonacci numbers have been given as functions of $k$-Fibonacci numbers, in powers of $k$, and in a recursive way.
Finally, a formula to find the first terms of these sequences from the $k$-Fibonacci numbers themselves has also been proved.

Author Contributions: The authors have contributed equally to this paper.
Funding: This research received no external funding.
Data Availability Statement: Not applicable.
Conflicts of Interest: The authors declare no conflict of interest.

## References

1. Chu, H.V. Partial sums of the Fibonacci sequence. Fibonacci Q. 2021, 59, 132-135.
2. Bird, A. A Study of the James-Schreier Spaces as Banach Spaces and Banach Algebras. Ph.D. Thesis. Lancaster University, Lancaster, UK, 2010.
3. Falcon, S. On the $k$-Lucas numbers. Int. J. Contemp. Math. Sci. 2011, 6, 1039-1050.
4. Falcon, S.; Plaza, Á. On the Fibonacci $k$-numbers. Chaos Solitons Fractals 2007, 32, 1615-1624.
5. Rivara, M.-C. Algorithms for refining triangular grids suitable for adaptive and multigrid techniques. Int. J. Numer. Methods Eng. 1984, 20, 745-756.
6. Plaza, Á.; Carey, G.F. Local refinement of simplicial grids based on the skeleton. Appl. Numer. Math. 2000, 32, 195-218.
7. Wilf, H.S. Generatingfunctionology; Academic Press: Cambridge, MA, USA, 1992.
